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ฉฉฉ ฉ ฉฉ ฉฉฉฉฉฉ ฉฉฉ ฉ ฉฉฉฉ ฉฉฉฉฉ ฉฉฉ ฉ ฉฉ.ฉฉฉ. ฉ

ฉฉฉ ฉ ฉ ฉ

ฉ ฉฉฉฉฉฉ ฉฉฉ ฉ ฉ ฉฉฉฉฉ ฉฉฉฉฉฉ ฉ

ฉฉ
ฉ ฉฉ =ฉฉ ฉ ฉฉ.ฉ ฉฉฉ .(ฉฉ .)ฉฉฉฉฉ ฉฉฉ .ฉ . ฉฉฉฉ

ฉฉ = ฉฉ@.ฉฉ ฉฉ ฉฉฉ 5 27
ฉฉฉ ฉฉฉฉฉ ฉ ฉ ฉ ฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉ ฉ ฉฉฉฉฉฉ ฉ ฉ ฉฉฉ ฉ ฉฉฉ ฉฉ ฉฉ ฉฉฉฉ ฉ ฉฉ ฉ ฉฉฉ ฉฉ ฉฉฉ ฉฉฉ ฉ ฉ ฉฉฉ ฉ ฉฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉฉ ฉ ฉฉฉ

ฉฉฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉฉฉฉ ฉ ฉ ฉ ฉฉฉ ฉฉฉฉฉฉฉ ฉฉ
ฉฉฉฉ ฉฉฉฉ ฉฉฉฉฉฉ ฉ ฉฉ ฉฉฉ ฉ ฉฉ ฉฉฉ ฉฉฉฉฉฉ ฉฉฉฉฉฉฉฉ ฉ ฉ

ฉ ฉฉฉฉ ฉ ฉฉ ฉฉฉฉ ฉฉฉฉ ฉ ฉฉฉ ฉฉฉ ฉ (ฉ ฉ 0[ฉฉฉ | ฉ ฉ)

ฉฉ ฉ ฉฉฉฉฉ. ฉฉฉ. ฉ

ฉฉฉ ฉ ฉ ฉ

1. ฉฉฉฉ ฉ ฉฉฉฉ

ฉฉฉ ฉ ฉ ฉฉฉฉ ฉ ฉ ฉ .ฉ(ฉ )41/2564ฉฉ ฉ ฉฉฉฉ 30 ฉฉฉ ฉ ฉ ฉ ฉ 25664 ฉฉ ฉ ฉฉฉฉ ฉ ฉฉ ฉฉ ฉ ฉฉฉฉ ฉฉฉ ฉ ฉฉ ฉ ฉฉฉ ฉฉฉฉฉ ฉฉฉฉ

ฉ ฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉ ฉ ฉฉฉ ฉฉ ฉ ฉ ฉฉฉฉ ฉฉฉ ฉ ฉฉฉ ฉฉฉฉฉฉ ฉฉฉฉฉฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉฉ ฉ ฉ ฉ ฉ ฉฉฉฉฉฉ ฉ ฉ ฉ ฉ ฉฉฉ ฉ ฉฉฉ ฉฉ ฉฉ ฉฉฉฉ-0 “0 ฉ ฉฉ 1 0 2 0ฉฉฉฉฉฉฉ ฉฉ ฉฉฉ ฉฉฉ ฉ ฉ ฉฉฉ ฉฉฉ ฉ ฉ ฉฉฉฉ ฉฉฉฉ ฉฉ ฉ ฉ ฉฉ ฉฉฉฉฉฉฉ ฉฉฉ ฉฉ ฉ ฉฉฉ ฉ ฉฉฉฉ ฉ ฉ ฉ ฉ ฉฉ ฉฉฉฉฉ ฉ ฉ ฉฉ ฉฉฉฉ ฉฉฉ ฉ ฉฉ ฉฉฉฉฉ ฉ ฉ ฉ

ฉ
ฉฉฉ ฉ ฉ ฉ ฉฉฉ ฉฉฉฉฉฉฉฉฉ ฉฉฉฉ ฉฉ ฉ ฉ ฉ ฉฉฉ ฉ ฉ ฉ ฉ ฉ ฉฉฉฉ ฉ ฉ ฉฉฉ ฉ ฉฉ(ฉ ฉ1 ฉฉ ฉฉ 9) (ฉ .1 ฉ ฉ ฉ . ฉ ฉฉ.( ฉ ฉ )( ฉ ฉฉ)(ฉ -

ฉฉฉ)004/2565)ฉฉ ฉ ฉฉฉฉฉฉฉ/ฉฉฉ ฉ/ฉ ฉฉ ฉ ฉฉฉฉฉฉ
: ฉ .1 ฉฉฉ.ฉ ฉฉ.(ฉฉ )(ฉฉฉ )(ฉฉ 10)004/2565

ฉฉฉ ฉ ฉฉฉฉฉฉฉฉฉฉ .ฉฉฉ ฉ .(ฉ ฉ )604/2565ฉฉ.2ฉฉ
.ฉ .2565

ฉ ฉ ฉฉ ฉ ฉฉฉ ฉ ฉ ฉฉ ฉฉ : 816,731.00 ฉ ฉฉ (ฉฉ ฉ ฉฉฉฉฉฉฉฉฉฉฉฉฉฉฉ )

ฉฉฉฉ ฉ ฉฉฉ ฉ ฉ ฉ ฉฉฉฉ ฉ ฉฉฉ
ฉ ฉ ฉ ฉ ฉฉฉฉ (ฉ ฉ ฉ ฉฉฉ. ฉฉฉ ฉฉฉ(......)) : ฉฉฉ ฉฉฉฉฉฉฉฉฉฉฉ ฉ .1 ฉ ฉฉ.(ฉฉ )2108/2564ฉฉ ฉฉฉฉฉฉ2 ฉ ฉ ฉฉฉ ฉ ฉ ฉฉ 2565

2. ฉฉฉ ฉฉ
ฉฉฉฉฉ ฉ

ฉ 2 ฉ,ฉ ฉ ฉ = | ฉ#2ฉ 5 ฉ

ฉฉฉ ฉฉฉฉฉฉฉฉฉ ฉฉ ฉฉฉฉ ฉฉฉ ฉ ฉฉฉฉฉฉฉ ฉฉ ฉ ฉฉ ฉฉฉฉ ฉฉฉฉ ฉฉฉฉ ฉฉ ฉฉฉฉฉฉฉ ฉฉฉ ฉ ฉฉ ฉฉฉ ฉฉฉฉฉ ฉ ฉ ฉฉฉฉฉฉฉ ฉฉฉฉ ฉฉฉฉฉฉ ฉ ฉ

2(ฉ-ฉฉ ฉฉฉ ฉฉฉฉ ฉ ) ฉฉฉ ฉฉฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉ

ฉ 1 ฉฉฉฉ ฉ7ฉ7-ฉฉฉฉฉฉฉ ฉ/ฉฉฉ ฉฉ ฉฉฉฉ : ฉฉฉฉฉ 9 ฉฉฉ ฉฉฉฉฉฉฉ 2565 - 16ฉฉฉ ฉฉ ฉฉฉฉฉ 2565

-ฉฉฉฉฉฉฉฉฉ ฉฉ ฉฉฉฉ ฉฉ ฉฉฉฉ ฉฉ ฉ ฉ ฉ-60 :ฉฉฉฉฉ17 ฉฉฉ ฉฉ ฉฉฉ ฉฉ 2565
1 -2 0!ฉฉฉฉ ฉฉฉ ฉฉฉฉฉฉฉฉ/ฉฉ ฉฉฉ ฉ ฉ/ฉฉ ฉ ฉฉฉ ฉฉ - "ฉฉ ฉฉฉฉฉ ฉฉ/ฉฉ ฉฉฉ ฉฉฉ ฉ ฉ ฉ ฉ ฉฉฉฉฉฉ 3ฉฉฉฉฉฉ| 1 2 10ฉ
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3.ฉ
ฉ

ฉฉฉ

ฉ
ฉ ฉฉฉ

ฉ ฉฉ ฉฉฉฉฉฉ ฉฉ ฉฉ ฉฉฉฉ ฉฉฉฉฉ ฉฉฉฉฉ ฉ ฉฉฉฉฉ ฉ ฉฉ ฉฉฉ ฉฉฉฉฉ ฉ ฉ ฉฉ ฉ ฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉ ฉฉฉฉฉฉฉฉฉฉฉ .-

3.1 ฉฉฉฉ ฉฉฉฉฉฉ ฉฉฉฉ ฉ ฉฉฉฉ

[1 ฉฉฉฉฉฉฉฉฉฉฉ ฉ ฉ ฉฉฉ ฉฉฉ ฉฉ ฉฉ ฉฉฉ ฉฉฉ ฉ ฉฉ.
3.2ฉฉฉ ฉ ฉฉฉฉ ฉฉฉฉฉ ฉฉฉฉฉ ฉฉ ฉ ฉฉฉ ฉฉ ฉฉ ฉ ฉ ฉฉฉฉฉฉ ฉฉ ฉฉฉ ฉ ฉฉฉฉ ฉ ฉฉ ฉฉฉฉฉ 3.1ฉฉฉ ฉฉฉ ฉฉฉฉฉฉฉฉ ฉฉ ฉ ฉฉฉ ฉ ฉ ฉฉ

ฉฉ ฉ ฉฉฉฉ ฉฉ ฉ ฉฉฉ.:
ฉฉ ฉ ฉฉฉฉฉ ฉฉฉ 0385 ฉฉฉฉฉฉฉ ฉฉ ฉฉ

ฉ50ฉฉฉ ฉฉฉ/ฉฉ ฉ ฉ ฉ/ฉฉฉฉ ฉ ฉฉ ฉฉฉ ฉ ฉ ฉฉฉ ฉฉฉฉฉฉฉ ฉฉฉฉฉ 2ฉฉ ฉฉฉฉฉฉ ฉฉฉฉฉฉ (ฉฉฉฉฉฉฉ ฉ/ฉ ฉฉ )

1ฉฉฉ ฉฉฉ ฉฉฉฉ ฉฉฉฉฉ ฉฉฉฉฉฉฉฉฉฉฉฉฉ 0505559008465 637,050.18

,ฉฉฉ ฉฉฉฉฉฉฉฉฉฉฉฉ ฉฉฉ ฉฉฉฉฉฉ ฉ ฉฉฉฉ ฉฉฉ 0103549039653 640,085.77

2ฉฉฉฉฉฉฉฉฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉ ฉฉฉ ฉ ฉ 1999 0553542000243 669,482.95

3.3 ฉ ฉฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉ ฉฉฉฉฉ ฉ ฉ ฉฉฉ ฉฉ ฉ ฉ ฉ ฉฉ ฉฉฉ ฉฉฉฉฉฉฉ ฉฉ ฉฉฉฉฉ ฉ .5308.4/ ฉฉฉ.9036ฉฉ ฉฉฉฉฉ 1ฉฉ .ฉ .2565

3.4 ฉ ฉฉฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉฉ ฉฉฉฉฉ ฉฉ ฉฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉฉฉ2 ฉฉฉ ฉ ฉฉ 2565 ฉฉฉ ฉ ฉ ฉฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉฉ ฉ

ฉฉฉฉฉ ฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉ ฉฉฉฉ ฉฉ ฉฉ637,050.18 ฉ ฉฉ (ฉ ฉฉ ฉฉ ฉฉฉฉฉฉฉฉฉฉฉฉฉ )

4. ฉฉฉ ฉฉ ฉ ฉ

2 ฉ 9 ฉฉ
ฉ ฉฉฉฉฉ ฉฉ ฉฉฉ ฉฉฉฉ ฉฉฉฉฉฉ ฉฉฉ ฉฉฉฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉฉ ฉ ฉ ฉฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉ ฉฉฉฉฉฉฉ ฉฉฉ ฉ ฉฉฉ = ฉ = ฉ ฉฉฉ7 ฉ ฉ 37 ฉฉ 2 ฉ. 1ฉฉฉ ฉฉฉฉ ฉ ฉฉฉฉ ฉ ฉ ฉฉฉ ฉฉฉฉฉฉ ฉฉ ฉฉฉฉ ฉ ฉฉฉฉฉฉ ฉฉฉฉ ฉฉฉฉฉ ฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉ ฉฉฉฉ ฉฉ ฉ ฉฉฉ ฉฉ ฉฉฉฉฉฉฉฉฉฉ ฉฉฉฉ ฉฉฉฉฉฉ

ฉฉฉ ฉฉฉฉฉฉฉฉ ฉ ฉฉ
ฉฉฉฉ ฉฉฉฉ ฉฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉฉฉฉ ฉฉฉฉฉ ฉฉฉฉฉฉฉฉฉ ฉ ฉ ฉฉ ฉ ฉฉฉฉ ฉฉ ฉ ฉ ฉฉฉ ฉ ฉฉฉฉฉฉฉ ฉ (ฉ -0ฉฉ [ฉ 9)ฉฉฉ ฉฉฉ ฉฉฉฉ ฉฉ ฉฉฉ ฉฉ ฉฉฉฉฉฉฉ ฉ ฉฉฉฉฉ ฉฉฉฉ 637,050.18 ฉฉ ฉ (ฉฉฉ ฉฉ ฉฉ ฉฉฉฉฉฉ ฉฉฉฉ )

- ฉฉฉ ฉฉฉฉ ฉ ฉฉฉ ฉฉ ฉฉฉฉฉ ฉ ฉ ฉ ฉ ฉ ฉฉฉฉฉ ฉฉฉ ฉ ฉฉฉฉฉ ฉฉฉฉฉ ฉ ฉ ฉ ฉ

-ฉฉฉ ฉ ฉฉฉฉฉ ฉ ฉฉ ฉฉฉ ฉฉฉฉ ฉ ฉฉฉฉฉ ฉฉฉฉฉฉฉฉฉ ฉฉ
ฉฉฉฉ ฉฉฉฉ ฉฉฉฉฉฉ ฉ ฉ ฉ ฉ

5. ฉฉฉฉ ฉฉฉฉ ฉฉฉฉฉ ฉ

ฉฉฉ ฉ ฉฉฉฉฉฉ/ฉฉฉ ฉฉฉ ฉ/ ฉ ฉฉ ฉ ฉฉฉฉ ฉฉฉ .1 ฉฉ ฉ .ฉฉฉ .(ฉฉ )( ฉฉฉ)(ฉ -ฉ [6)004/2565ฉฉฉฉ ฉ ฉ ฉ ฉฉฉ ฉ ฉ ฉ ฉ ฉฉ ฉ ฉฉฉ ฉฉ
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- ฉ

ฉ
ฉฉ

ฉ
ฉฉฉฉฉ ฉฉ

ฉ
ฉ 816,731.00

- ฉ

ฉ
ฉฉ ฉ ฉ

ฉ
ฉฉฉฉฉ ฉฉ 816,731.00

-

ฉฉ
ฉฉ ฉฉฉ

ฉ
ฉฉฉฉ

ฉฉ
ฉฉ

ฉฉ
ฉฉ 637,050.18

-ฉฉฉฉ ฉ ฉฉฉฉ ฉ ฉฉ ฉ ฉฉฉฉ ฉ ฉฉ ฉฉ 179,680.82

-ฉฉฉฉฉฉฉฉฉ ฉ ฉฉ ฉฉฉฉฉฉ ฉฉฉฉ179,680.82
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